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¥ 1(a)

[> restart;

diff(sqrt((x*2-1)/(x*2+1)).x);
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v 1(b)

[> assume (x>0);
1:=int(log (x/y"2),y=1..x);

> int(11.x=1.2);

2(a)
B restart;
with(LinearAlgebra):

> E:=ldentityMatrix(3);

> Determinant(A-t*E);
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> Eigenvectors(A);
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> A:=Matrix([[1,2,3].[2,1,31.[3.3.21]);
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> solve(Determinant(A-t*E)=0.1);
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[> restart:
with(LinearAlgebra):
[> Q:=Matrix([[3,2).[2.6]]);
xx:=Vector([x,yl);
bb:=Vector([-6.-2]);
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=> expand(Transpose(xx).Q.xx+Transpose(bb).xx+2);
3% +4xy+6)° —6x—2y+2
> 1.V:=Eigenvectors(Q);
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=> v 1:=Normalize(Column(V,1),Euclidean);
v2:=Normalize(Column(V,2).Euclidean);

— tg|~

> P:=<v1 [ve2>;

> Transpose(P).Q.P:;

E yy:=Vector([xp.yp])

W=

xp
w ]
=> el:=expand(Transpose(yy).Transpose(P).Q.P.yy)+Transpose(bb).P.yy+2;
el :=2.\‘p2 <+ 7)772 +2.\'p\/-§-—2yp\/?+2

E expand (7*(xp-sqrt(5)/7)"2+2*(yp+sqrt(5)/2)"2+2-45/14),

7xp2 = 2xp\/?+ 2+ 2yp2 o 2yp\/—5—

3(a)
> restart;
eq1:=(2"%+3"X)*(9/2"x+4/3"x);
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> expand(eql);
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[> expand(13+4/X+9%X); ‘ﬁ_ 5 ? '
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> eq2:=13+4/X+9"X-a: “
eq2:=13+§;+9/\'-a 5.4)
[> sort(expand(eq2*X).X);
O+ 13X—aX+4 (5.5)
[> plot(subs(a=30,eq2*X),X=-2..2);
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=> s1:=solve(expand(eg2*X),X);
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=> solve(-13/18+a/18>0,a);

RealRange(Open(13), =) (5.7)
=> solve(25-26*a+a”*2>0,a);
RealRange( - o, Open(1)). RealRange(Op. 5). =) (5.8)
B a>2b;
25<a jﬁ {" (5.9)
E expand(s1[1]1*s1[2]):
4
1 (5.10)
[> 4/9=(3/2)7(x1+x2);
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[> simplify (solve(4/9=(3/2)(x3),x3));



Y3(h)
’Lzb/ > s2:=solve(subs(a=50,692).X):

1
[> expand(solve(s2[11=(3/2)"x4T:

(6.2)

[> expand(solve(s2[21=(372) % x5
[ 2In(3)
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